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PHYSICAL EDUCATION
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Gladiator sport was the most popular
past-time of the people of

(A) Athens
(B) Sparta
(C) Ayodhya
(D) Rome

John Dewey propounded the
philosophy of

(A) Pragmatism

(B) Naturalism

(C) Idealism

(D) Humanism

The  psychomotor domain of
Physical Education is concerned
with

(A) Knowledge

(B) Attitude

(C) Motor skills

(D) Values

The five interlinked rings of five
different colours of the Olympic flag
reflect

(A) Unity of the world

(B) Brotherhood of Mankind
(C) International Cooperation
(D) Globalisation

An ectomorph individual has a
(A) thin and slender frame

(B) bulky and stocky body

(C) muscular and athletic frame
(D) body beautiful image

Match List — I with List — II and
select the correct answer using the
code given below :

List - I List — IT
I. Activity 1. Pragmatism
undertaken for
pleasure

II. Experimentalism 2. Growth
after the name of
John Dewey
III.View point that
looks upon
nature as prime 3. Naturalism
mover of all life
activity.
IV.Structural
increase caused
in body by 4. Recreation
biological
process
Codes :

(A)
(B)
©)
(D)

SN =
o= =N
D W W
—_— N W =

The heart muscle is called
(A) Pericardium

(B) Endocardium

(C) Myocardium

(D) Epithelium

Mitochondria plays an important role
in cell respiration and

(A) Elimination of CO,
(B) Metabolic function
(C) Production of energy
(D) Neuro transmission
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10.

11.

During very strenuous exercise, the
major reason for the onset of fatigue
is

(A) CO,

(B) O, debt

(C) depletion of O,

(D) lactic acid formation

Football players use anabolic
steroids in order to increase their

(A) lean body mass and strength
(B) ability to concentrate

(C) power to kick the ball

(D) speed and tackling ability

Match List — I with List — II and
select the correct answer using the
code given below :

List - I List — II

I.  Source of energy 1. Anaerobic
during all out metabolism
sprint

II. oxygen deficit 2. Myoglobin
increased during
exercise

III. Oxygen storage 3. Recovery

in the muscle period
IV. Rest pgrlod 4. Oxygen
immediately
. debt
after exercise
Codes :
I nm o Iv
(A 1 4 2 3
B) 1 2 3 4
(C) 4 2 3 1
4 1 3 2

12.
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The direction to which force is

applied by a thrower to the shot

determines

(A) The angle of its release

(B) The velocity of the shot

(C) The angle of release and its
velocity

(D) The total motion of the shot

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : In the first class
lever the location of the
fulcrum can change relative
length of the force arm and the
resistance arm.

Reason (R) : Fulcrum is placed
between force and resistance

arm.
In the context of the two
statements, which one of the

following is correct ?
(A) Both (A) and (R) are correct
and (R) is correct explanation
of (A).
(B) Both (A) and (R) are true, but

(R) is not the correct
explanation of (A).

(C©) (A) is correct, but (R) is
wrong.

(D) (A) is wrong, but (R) is
correct.

Exercise related stress fractures

occur in bones

(A) Below the Knee

(B) In the spinal column
(C) Above the neck

(D) Inthe arm

A person’s posture stays upright as
long as there is a perfect balance in
his body of

(A) endurance and strength

(B) agility and speed

(C) speed and strength

(D) strength and flexibility



10.

11.
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T HROT L ?

(A) A SRS
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16. When centrifugal and centripetal 19. Match List — I with List — II and
forces balance each other then the select the correct answer from the
hammer will

(A) slow down considerably code given below :

(B) remain in rotation List -1 List — II

(C) move faster

(D) not move at all I.  Escape 1. Anger

17. Match List — I with List — II and II. Combativeness 2. Fear
select the correct answer using the III. Curiosity 3. Creativity
code given below : .

List = I List — IT IV. Construction 4. Wonder

I.  Flexion 1. Combination Codes :

of all

movements I o 1 1Iv
II. Abduction 2. Reduction of (A) 3 4

angle at the

joint B) 2 3 4 1
III. Extension 3. Increase in

angle at the © 2 1 4 3

joint (D) 4 3 2 1
IV. Circumduction 4. Movement

away from

the mid line 20. School of Psychology most closely
Codes : of the body related to Learning theory is

@) { 121 I%I IX (A) Gestalt school

(B) 2 3 4 1 (B) Cognitive school

<© 2 4 3 1 L

D) 2 4 1 3 (C) Behaviourist school

18. Which of the following is not (D) Psycho analytical school
correctly matched ?

(A) An imaginary - Plane . ) o
surface through 21. Within social groups the statistical
which a study of behaviour and relationship
gl(éf\:,segll?clte is known as

(B) An 1maginary - Horizontal (A) Socio matrix
surface which plane . .
divides the (B) Socio-diagramming
body into . .
superior  and (C) Socio programming
inferior part. (D) Sociometry

(C) An imaginary - Sagittal
surface  which plane
ggggeiight gllg 22. Interpersonal relationships amongst
left lateral team mates once established always
aspects remain

(D) An imaginary — Sagittal )
surface %Vhic% pla%le (A) Dynamic
divides the :
body into (B)  Fixed
anterior and (C) Permanent

t
E;’lfeiils?r (D) Consistent
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16. 19 FRIcHRT 3R HesITHT ofcf Teh S 19. et — 1t gei — 11 & gaferd it 3R
! Fgferd I €, T R AT T2 T e & IR W el 3T T 79
(A) T TR | T
(B) IHAT & | 1 1
(C) AR 3tk Tfd & <ol | o o
(D)  fereehet &t 5o | L e L M

i 1. SEEE 2. 99

17. et — I 0 gE — 11 9 GAfed i
153 7T e & YR W Tel 3T A1 997 ML T 3. g
iR ; Iv. FEo 4 e

et - 1 E_H‘ %<
L ! I ﬁww? ol I 1o I IV
II. GoeRE 2. W FHHoTH @A 12 3 4
HH HET B 2 3 4 1
I11. foar 3. Gy ©) 2 1 4 3
IV. e 4 ﬁﬁm Oy4 3 21
[WHN
T 20. oy TS 9 SIfuedH  gRad
e AT et &
I 1o I IV N
A 1 2 3 4 (A) o
B 2 3 4 1 (B) HMIcH Thet
o 2 4 3 1
M 2 4 1 3 (C) SRR et
(D) HAIIRA TaeeTToT Whet
18. frefeifiad & @ s a1 gafed =i & ?
(A)th%rgﬁa%%’|m - 21. Tl miod wgE % FEER SR
B) T @ Fra} % QifeTeh! 3T o Fad &
Wﬁﬁ%@ﬂﬁ? R (A) T iz
:j;rg”ﬁﬁw et (B) I3 &
|
(C) Hioud wmweet, St — wem (C) TS HIITH
IRR T I 3R TR (D) HHSIHEE
T TSk UeT o ad
Siedr | 22. W & fgerfedl & s U 9 IR-
(D) Hfoud exIeer, St — e Afereh T gu Ty Tee @ €
gﬁﬁ WgaﬁT %WW (A) i (B) frerys
FATE | (©) @ (D) THEd
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23.  Which of the following statements is

24.

25.

26.

not correct ?

(A) Physique is the primary
dimension of human
personality.

(B) Emotional dimension of an
individual singularly
determines his personality.

(C) Human personality loses its
meaning if conceived without
the mental and intellectual
dimension.

(D) Sociability is a very important
dimension of personality.

In implementing a curriculum of

Physical ~ Education the least

important facility is

(A) Swimming pool

(B) Standard track

(C) Human performance
Laboratory

(D) Indoor multipurpose hall

Elementary = school  curriculum

should stress on

(A) Skill education

(B) Awareness education

(C) Movement education

(D) Fun education

The factor that most adversely

affects teacher education in Physical
Education is

(A) Government policy

(B) Non-uniformity of curriculum
(C) Lack of employability

(D) Lack of leadership

27. Match List — I with List — II and

28.
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select the correct answer from the
code given below :

List -1 List — II
I. Time-table 1. Course of
study offered
by an
institution.

II. Syllabus 2. A document
including all
the learning
experiences
provided for
students.

III. Curriculum 3. Outline of
contents to be
taught.

IV. Professional 4. A document

ethics showing what
is to be done
by whom and
at what time.
Codes :
I nm o Iv
(A) 4 3 1 2
B) 3 4 1 2
<©) 4 3 2 1
D) 3 1 2 4

Which one of the following is not

correctly matched ?

(A) A traditional
exercise club

(B) Allotment of — Macro
periods of scheduling
instruction,
practice,
participation
and
competition

(C) Yearly calendar
of academic or
sports events

(D) Abilities to
perform
fundamentals
of sport

Vyayamshala

Macro
scheduling

Athletic
skills



23.

24.

25.

26.

Tfetiiad & 9 s |1 FuT &l T8l e ?

(A) WFE-AfddeE H UHE U g
IIRINR & |

(B) Tl =AfeRT ST WTaTcHeh U&T 3Thet
& U e i I shear
g

(C) HHI-Afddca AL &l Sl &
D T diigeh AR HAHER
Tefl & femT i =i |

(D) QHETSeRar AT T Hewaqul
T E |

IRINEG K1 o aeawd H HaE HH
HEEquT i &

(A) ROTAA
(B) " e U

(C) T SIE JERTeTe
(D) g 3TER 31

TRIRTe Thet TIGashd | SR ST 16T
(A) T foreT

(B) STk 91T
(OFcucaiy

(D) TS et

IR 18T & 3TeAIF Pl AR
AT e ATl SR &

(A) TR AT
(B) TISHSHH I STHETAT
(C) STIR o 3TEH bt hAt
(D) e Bl Al

28.

ga“r aﬁqa“r 11 & =9 753 7w
11%& I e - 11
[ 99g-9Ror 1. GRITER
LRIRCRICRER]
II. Taceg 2. U SEATEST
et feremtérat
& |
3Twal i
3TAT & few
[featerd ferar
SATE |
11 re=shd 3. forog-ge @
TR ST
T
forenferat =
T AR |
V. TEdas 4. T e
Afdepar v 71 3ifehe
e & R
feraeR! e 3R
FARTE |
S :
I O U IV
A 4 3 1 2
B) 3 4 1 2
< 4 3 2 1
M 3 1 2 4
foreAferfiaa o @ s o1 gaferd & & ?
(A) THURTRE — — ATEICT
AT
(B) EE, AW,  — Hoh SR
qMRRY 3R AT
Hfereqet & ferw
THT-FTIRoT

(C) SThEHEH AR — Bkl ST
TA-TH H I

1R Sheivel

(D) Wl & oA — Ui
P HIS
%r@:ma?r
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29. Milk, butter and ghee provide 33. Cardiovascular system can be best
(A) Vitamin B & C trained for performance in endurance
(B) Vitamin E & K events by engaging in
(C) Vitamin A & B Eg; Xogic elfercises ‘

Lo naerobic exercises
(D) Vitamin A & D (C) Aerobic exercises

30. Required ratio of carbohydrate, (D) Ballistic exercises
protein and fat in a balanced diet for 34. Match List — I with List — II and
a body is select the correct answer from the
A 1:1:1 code given below :

B) 3:1:2 List - I List - II

(C) 4:2:1 I.  Strength 1. the ability to

D) 4:1:1 express force
many times

31. “Carbohydrate loading” wused by over.
athletes means II. Maximum 2. the greatest
(A) Spending energy during hard strength force that is

physical workout. possible in a
(B) Generating energy per unit of s1ng1‘e
time. maximum
ine enerey from the blood. contraction.
Eg)) St‘(:)trting anrg inomutscfl:ez ood III. Explosive 3. the ability to
’ strength overcome a
32. Given below are two statements as resistance with
) ) a fast
Assertion (A) and the other is contraction
labellec.l as Reason (R). IV. Strength 4. ability to exert a
Assertion (A) : The POy endurance force against a
organs provide an resistance
index of general Codes :
health status. 1 o I 1v
Reason (R) : Skin is an (A 1 2 3 4
important index of B) 2 3 4 1
health because it < 4 2 3 1
responds to (D) 4 3 2 1
circula}tion, ‘ 35. In an Indoor Volleyball match the
excretion,  toxins minimum clear height requirement is
and bacteria etc. (A) 11m
In the context of the two statements, (B) 12m
which one of the following is (C©) 12.5m
correct ? (D) 13m
(A) (A) is correct, but (R) is 36. The performance area for floor
wrong. exercise in gymnastics is
(B) Both (A) and (R) are correct. (A) 10m x10m
(C©) (A) is wrong, but (R) is B) 1lm x11m
correct. © 12m x12m
(D) Both (A) and (R) are wrong. (D) 15m x15m
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29, T, HeRG 3R B U YA € 33. hiicdieRgeR UM i Fe-ierar i
S &t 3 g Mﬁ%ﬁﬁmmm
) ST |eheTl & IS 39 ST o TET ST
(B) foai € v % (A) =i =
(C) foetaau e (B) UHARITeeh =ATA™
(D) faefr T aik <t (C)  iferh =
(D) TIo =AW
30. IR % U ST Sffeid SR | 34. -1 0 gE-11 & T grferd it :
FIERITIE, WL 3R T 1 T ST !ﬁﬁ I Tl - 11
T STt & 2 I 1.2 0 %
A 1:1:1 B) 3:1:2 B A
©C 4:2:1 D) 4:1:1 ST |
[I. ehae 2. Uehel 3T
31. UGl FRT WIE HERTESS AAlfeT ara T | v
FT AT ? ATeRaT &7 |
(A) Rl IRINE 1 & SR Soll T 1. feremizeh 3.@?13314@
=T | GiEX] T e
(B) 4 ¥ W o & o Feon | - Wﬁ
(C) T ol ol W | V. drehet 4. ajaﬂ%ra?%lﬁ‘a
(D) wiferE & St Soero | TeRrerar et T bl
T |
32 9w o o o 4 e W
e (A) 3R g I T (R) Fo A 1 2 3 4
T | B) 2 3 4 1
AT (A) : TF T 9EE Eg))j g ; }
W W)l Yhe T 1 a7 ‘
T 35. TER dcieil 79 H gAaH S
& (R) O @R H Wiﬁa
He<aquT UV €, ik I8 TR, (A) 11
e Tshree, 3o a3 R - (B) 127X
e 3 vt sRa 3 S | o ﬁ;ﬁf
SIS HIAT H F B ?
SRR 36. TT=IReTd § TR TRRERES 1 (oE
(A) (A) W&, <] (R) T € | Sy
(B) (A) 3R (R) T HEIE | (A) 10T x 10T
o) (A , (B) 11#L x 114
© )W%W(R)ﬁ%l (C) 12 x 124
(D) (A) 3R (R) T TeAT & | (D) 15 x 15
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37. How many timeouts are allowed in a 41. Match List — I with List — II and
foot-ball match ? select the correct answer from the
code given below :
A 2 List - I List — II
B) 3 I. Central 1. An estimate of
Tendency the variability of
© 1 scores of a group
(D) None around the mean.
II. Variability 2. A single score
that best
38. Match List — I with List — II and represents all of
select the correct answer from the the scores.
code given below : II. Standard 3. The degree of
deviation difference
List - 1 List - 11 between each
I. Flexibility 1. Skin Fold individual score
calliper and the Central
) Tendency score.
I Vital 2. Dynamometer IV. Variance 4. The square of the
capacity standard deviation.
Codes :
IIL. Body " 3. Goniometer I n m 1v
composition

IV. Strength 4. Spirometer
Codes :
I 1o m 1Iv

A 2 1 3 4
@) 1 2 3 4
© 2 3 1 4
® 2 4 1 3

42. Match List — I with List — II and
A 3 4 1 2 select the correct answer from the
code given below :
B 3 1 4 2 List - I List - IT
< 3 2 4 1 I. Correlational 1. Technique of
Research descriptive
(D) 2 ! 3 4 Research to
39. Which of the following is not used in determine present
case study ? practices or
. opinions.
(A)  Observation II. Survey 2. Research that

explores relativity
between variables.
[II.Developmental 3. Same participants
Research are studied over a
period of years.
IV.Longitudinal 4. Study of changes

(B) Measurement
(C) Interview

(D) Personality Inventory

40. Null hypothesis is also known as studies in behaviour
. across years.
(A) Research hypothesis Codes :
(B) Statistical hypothesis 1 Ir o Iv
) ) (A 2 3 4 1
(C) Alternative hypothesis (B) 2 1 4 3
. . <o 2 1 3 4
(D) No difference hypothesis D) 2 4 1 3

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




37.

38.

39.

40.

el 7 ¥ fohe 2TeH-3T3he i 31T & ?
(A) 2

B) 3

© 1

(D) Tl

gAl-1 & gai-11 ¥ gafera i 3R

U i o MR W el ST T T

HITTT

et - I el - 11

I oftaekar 1. e wies
FHiAR

II. oTgee FufEdl 2. SEAHHY
L IRR T 3. MR
IV. ke 4. TR
S :

I I I 1V
A 3 4 1 2
) 3 1 4 2
© 3 2 4 1
M 2 1 3 4
frtatEd o 9 SiF 91 g el § Uge
T Eae ?
(A) TR
(B) #m@
(C) WeThR
(D) Atk et
el URHTIT i g H FEl ¢ :
(A)  STHEH IR
(B) WifteTeh! IReReT
(C) Sehfoush INEheTAT

(D)  ST=IE UREheaT

41.

42,
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T — I‘oﬁrga“r H@qﬁﬁaﬁﬁnaﬁr

ST HIE o AYR W T&l I H T999
it - 1 it - 11
[. HSIYAUA 1. HTET o AGATE
Tohdll 76
Torerera 37T 1

1. fo=etar z.%aﬁw
T AT HATH
Tehol 3ieh |

L 599 faae™ 3. Ucdeh adfaden
3 AN He
YAUTAT 37 &
o fafyy=rar =t
feur |

IV. 3R 4. T THTT Toreer
T T |

HIE

I IO I IV

A 2 1 3 4

@) 1 2 3 4

C 2 3 1 4

@ 2 4 1 3

et — [ ol gt — 11 | GAfed Sifste 3iR

U i & MR W el ST T T

A1 0
L g?w%a 1%@@@
ETCH el
ST )
|
II. HIeTT 2. oo i % 9=
%ﬁw&w Eal AT
AT STHH |
II1. fereprames 3?;%3438%537%
T TSk & AT
T R Al W

IV. F=E@M 4. % & qoh TR

T 4 Sgae
T |
HIE
I I I Iv
A 2 3 4 1
B) 2 1 4 3
C 2 1 3 4
@ 2 4 1 3



43. Which one of the following is not 46. The autocratic leader
the test of muscular strength 7 (A) allows subordinates to take
(A) Kraus Weber Test decision
(B) Roger’s Test (B) seeks opinion of subordinates
(C) Phillips JCR Test (C) directs subordinates
(D) Tutle pulse ratio Test (D) involves subordinates
44. Some of the AAHPERD are 47. The time elapsed between the
Physical Fitness Test items are moment of application of a stimulus
(A) Pull ups, sit ups, shuttle run, and the moment of first response is
standing Broad jump, 50 yds (A) Reaction time
dash (B) Movement time
(B) Pull ups, sit ups, shuttle run, (C) Response time
running Broad jump, shot put
throw. (D) None of the above
(C) Pull ups, sit ups, shuttle run,
push ups, 50 yds dash 48. The greatest normal load is called
(D) Pull ups, sit ups, shuttle run, (A) Maximum load
push ups, softball throw. (B) Over load
(C) Crestload
45. Match List — I with List — II and (D) Normal load
select the correct answer from the
code given below :
List — I List — II 49. BMI (Body Mass Index) is given by
I. Humerus 1. Bones of the (A) Wt412nkg
fingers Ht“m
II. Femur 2. Bone of the (B) Wt in lbs
thigh Ht? in
I1II. Carpals 3. Bones of the c Ht’> m
wrist © wt in kg
IV. Phalanges 4. Bones of the Ht2 in
upper arm D) tin bs
Codes :
I I v 50. Split half method is used to test
A 4 3 2 1 (A) Validity
@ 4 2 3 1 (B) Reliability
© 4 1 3 2 (C) Objectivity
D) 2 4 3 1 (D) Administrability
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43.

44.

45.

fefefea & @ S 91 9o St
TTehel ol IXIRT0T e & 2

(A) S AT TRiETor

(B) IS oRyeAoT

(C) TrieTe SidfteTR wlieor
(D) =2t UoH T ulteTor

3MH (AAHPERS) JaT YRR Toeedr
TR0 F F 3 E

(A) TeT 3T, T 3T, ¥Iee T, TreT
e ST, 50 TSS9

(B) T 31w, [9e 3T, veet W, I
e <7, e 92 ot

(C) T 37w, fHe ofw, wed ©, I
3T, 50 ATE 9

(D) T 3T, e 3T, e H, 9
3T, W &cA 4t

gt — 1 ol gt — 11 9 gaford ity 3R

U i o MR W el SR T I
HITTT
et - I

e - 11
I 3R 1. 3ol s et
I W 2, SETH R
I o] 3. el i e
IV. %ofsist 4, W e W@
et

FE:

I 1 I IV
A 4 3 2 1
B) 4 2 3 1
© 4 1 3 2
D 2 4 3 1

46.

47.

48.

49.

50.

Thd=1a =

(A) IRt B O o S erHid
TATE |

(B) 3N & foOR SHd AT
g

(C)  3refivreeti Rl fReT e & |
(D) 3Tl I T A ToTTT & |

frdl ST fFr & e R 3T
TR YA UTsHaT 3 e 8T 3o &

(A) vfafskan qu
(B) @oTwe I 6T
(C) TFW 1 FHT
(D) SR T 9 HE T&l

TR T R ol Fed &
(A) eAfeeas IR

(B) 3HYR

(C) HE IR

(D) WHET YR

I T o (Sl A IeE) H SwE
ST

Wt in kg Wtin Ib

(A) Ptltlznm (B) Ifltlélin :
HtZ m Ht2 in

© wt in kg (D) wt in Ibs
e 1% ggia &1 W fohe IlieTor &
feu g s ?
(A) e
(B) Tovag=aar
(C) o
(D) WRTHe IivraT
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